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FOREWORD

The National Examinations Council of Tanzania would like to issue this report on
the performance of students in Geography Subject Form Two National
Assessment (FTNA) of 2018. The report has been prepared in order to provide
feedback to students, teachers, parents, policy makers, stakeholders and
community as whole about the performance of students in this subject.

The Form Two National Assessment is a formative evaluation which, apart from
other things, portrays effectiveness and efficiency of the education system in
general. In addition, the score obtained from this assessment is used as part of
continuous assessment in the Certificate of Secondary Education Examination
(CSEE).

Basically, the students’ responses to the questions are the strong indicators of
what the education system was able or unable to offer to the students. The report
analyses the performance of the students and provides the reasons behind
students’ good or poor performance in each question. The feedback provided in
this analysis will enable educational administrators, school managers, teachers
and students to identify proper measures to be taken in order to improve students’
performance in future assessments administered by the Council. The feedback
will also help teachers and other education stakeholders to find appropriate
measures of assisting students in challenging topics and concepts before they sit
for the Certificate of Secondary Education Examination (CSEE).

The National Examinations Council of Tanzania will highly appreciate comments
and suggestions from teachers, students and the public at large that can be used
for improving future students’ item response analysis reports.

Finally, the Council would like to express sincere appreciation to all examiners,
shareholders and stakeholders who participated in preparing this report.

A

Dr. Charles E. Msonde
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report is focused on the analysis of the students’ item response for Form
Two National Assessment (FTNA) in Geography subject for the year 2018. In
this report, three categories of performance have been expressed in the
following ways; the performance is termed to be good if the students score
from 65 to 100 percent, average if the scores range from 30 to 64 and poor if
the scores range from O to 29 percent. These categories are indicated by
colours: green indicates good performance, yellow stands for an average
performance and red denotes weak performance.

The assessment paper had three sections: A, B and C. Section A consisted of
three compulsory questions. Question 1 carried 10 marks, question 2 carried 5
marks and question 3 carried 10 marks. The total marks for section A were 25.
Section B consisted of 3 questions: questions 4, 5 and 6 and each carried 15
marks. The total marks for section B were 45. Section C had 4 optional
questions and students were required to answer any two. Each question in this
section carried 15 marks, making a total of 30 marks.

The number of students who sat for FTNA in November 2018 was 505,631
out of these, 63.37 percent passed and 36.6 percent failed by scoring grade F.
This performance shows an increase by 6.57 percent compared to the 2017
FTNA performance in which 56.80 percent out of 485,608 students passed
and 43.2 percent failed, as shown in the figure 1.
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Figure 1: Comparison of Students’ Performance in FTNA 2017 and 2018.



2.0

2.1

2.1.1

This report analyses each question by giving an overview of what the students
were required to do, the general performance and the reasons for their
performance. Finally, it provides a conclusion, recommendations and an
attachment which shows the percentage of students’ scores in each question. It
is expected that through this report, necessary measures will be taken in order
to improve the teaching and learning of Geography subject in Secondary
schools.

ANALYSIS OF STUDENTS’ PERFORMANCE IN EACH QUESTION
SECTION A: OBJECTIVE QUESTIONS

There were three compulsory questions in this section. Question 1 consisted of
10 multiple-choice items carrying a total of 10 marks, while question 2
consisted of 5 matching items which carried a total of 5 marks. Question 3 had
10 true-false items, each carrying 1 mark and thus making a total of 10 marks.

Question 1: Multiple Choice Items

The multiple choice items aimed at testing the students’ knowledge of
Physical, Human, Practical and Mathematical Geography. The students were
required to choose one correct answer among the four given alternatives.

The question comprised of ten (10) multiple choice items set from Physical,
Human, Practical and Mathematical Geography which covers form one and
two syllabi. Students were required to choose the correct answer among the
given alternatives. It was attempted by 505,631 (100%) students, whereby
20.3 percent scored from 0 to 2 marks of which 1.3 percent scored 0 mark,
62.2 percent scored from 3 to 6 marks and only 17.5 percent scored higher
marks from 7 to 10 marks. Figure 2 illustrates the percentage of students’
performance in question 1.
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Figure 2: The Percentage of Students’ Performance in Question 1.

Generally the performance in this question was good since the percentage
of students who scored 30 percent and above was 79.7 percent. This
performance indicates that, these students acquired sufficient knowledge in
The topics of: Solar System, Major Features of the Earth’s Surface,
Weather, Climate, Map Work and Sustainable Use of Forest Resources.
Extract 1.1 shows a sample of a good response from a student who got the
ten responses correctly.



Extract 2.1

SECTION A (25 Marks)
Answer all questions in this section.

1. For each of the items (i)-(x), choose the correct answer from the given alternatives and write -
letter in the box provided.

(1) The furthest position from the sun in the orbit of the earth is called

A Equinox
C Perihelion

A Volcanic mountain.
C Residual mountain.

A Rain gauge.

A Mediterranean.

B  Aphelion
D Solstice

B Block mountain,
D  Fold mountain.

B Wind vane.

{v) Which type of climate among the following is different from the other?

B Savanna.

&

(ii) Which type of mountains results from the eruption of molten rocks from the earth interior?

A

(iii) Which one of the following instrument is not the component of a weather station?

C  Microscope. D  Stevenson screen. C
(iv) The time which is recorded along the same meridian is called

A Local Mean Time B  Greenwich Mean Time

C  Great Mean time D Standard Time. A

C Hot desert. D Equatorial. .
(vi) Which scale is the largest among the following?

A 1:25,000. B 1:1,500,000.

C 1:50,000. D 1:10,000. D
(vii) Which one of the following features are correct set of the ocean floor?

A Ridge, basin, plateau and waterfall.

B  Continental shelf, basin and waterfall. c

C  Trench, continental shelf and continental slope.

D

Horst, plain and volcano.




(vil) A ship move to the west and cross the International Date Line, what happen in regard to time
gained or lost?
A No time is gained or lost B One whole day is lost

C  One whole day is gained D One whole day is repeated. 'y

(ix) The height above the sea level is called
A Altitude B Contour
C Latitude D Ocean. A

(x) Which one among of the following is not an importance value of forest?
A Support life of varied species. B Modify climate.
C  Accelerates soil erosion. D Home for animals and birds. | ¢

Extract 1.1. A sample of correct responses.

Analysis shows that 20.3 percent of the students performed poorly. These
students failed to provide the correct responses in 7 to 10 items in this
question. The failure of these students indicates that some of them lacked
sufficient knowledge on the subject matters, while others were unable to
understand the demands of the question. Extract 1:2 shows a sample of poor
responses from one of the students’ script.



Extract 1.2

SECTION A (25 Marks)
Answer all questions in this section.

For each of the items {i)-(x). choose the correct answer from the given
letter in the box provided.

(i} The furthest position from the sun in the orbit of the earth is called

alternatives and write 1ts

A Equinox
C Perihelion

B Aphelion

D Solstice

B

(ii) Which type of mountains results from the eruption of molten rocks from the earth interior?

B Block mountain.
C  Fold mountain.

A Volcanic mountain.

C  Residual mountain.

BG

(iii) Which one of the following instrument is ot the component of a weather station?

B  Wind vane.
D Stevenson screen.

A Rain gauge.
C  Microscope.

Ch

(iv) The time which is recorded along the same meridian is called
A Local Mean Time B  Greenwich Mean Time
C  Great Mean time D Standard Time.

(v) Which type of climate among the following is different from the othe
B Savanna.
D Eguatorial.

A Mediterranean.
C Hot desert.

(vi) Which scale is the largest among the following?
A 1:25.000. B 1:1.500.000.
C  1:50000. D 1:10,000.

B

r?

.
X3

CH

(vii) Which one of the following features are correct set of the ocean floor?

A Ridge. basin. plateau and waterfall.
Continental shelf, basin and waterfall.
Trench. continental shelf and continental slope.

B
C
D Horst. plain and volcano.

Ch




(viil) A ship move to the west and cross the International Date Line, what happen in regard to time
gained or lost” —
A Notime is gained or lost B One whole day is lost |
C  One whole day is gained D One whole day is repeated. ﬂ&

(ix) The height above the sea level is called
A Altitude B Contour
| Bo
C Latitude D Ocean.

(x) Which one among of the following is not an importance value of forest?
A Support life of varied species. B Modify climate.
C Accelerates soil erosion, D Home for animals and birds. b%

Extract 1.2: is a sample of poor responses from the student who failed
to understand the demands of the question. She/he provided two
alternatives instead of choosing one correct alternative.

The following were some strengths and weaknesses observed in the students’
responses in each item.

In item (i) the students were required to identify the furthest position from the
Sun in the orbit of the Earth. The students who chose the correct answer B.
Aphelion had sufficient knowledge and skills on the concept of Solar System.
They were able to differentiate between aphelion and perihelion, where by
aphelion means the furthest position from the sun in the orbit of the earth,
while C, Perihelion refers to the nearest position from the sun in the orbit of
the earth. The students who chose A. Equinox lacked knowledge of the
aphelion concept as equinox implies equal day and night at all latitudes.
Furthermore, the students who opted for D, Solstice lacked knowledge of the
concept, as solstice means time in a year when the sun is directly overhead at
noon over the Tropic of Cancer or the Tropic of Capricorn and it occurs
around 21° June and 22" December.

Item (ii) required the students to identify the type of mountain which results
from the eruption of molten rocks from the earth’s interior. The students who
chose the correct answer A Volcanic Mountain were knowledgeable on the
concept of volcanic mountains. These mountains are formed from the pilling
up and cooling of hot molten lava and ashes that are thrown out from the
earth’s interior after volcanic eruption. On the other hand, students who chose
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B Block Mountain failed to understand that Block Mountains are formed when
a movement in the earth’s crust forces the rocks to move up. These results in
enormous cracks or faults which are formed when the sets of faults run
parallel to each other and the ground is forced up. Moreover, students who
opted for C Residual Mountain lacked the knowledge of volcanic mountain as
residual mountains are formed due to prolonged denudation involving
removing weaker rocks from the land. Those students who chose D Fold
Mountain were incorrect because this is formed due to wrinkling of the earth’s
crust.

Item (iii) demanded the students to identify the instrument which is not a
component of weather station. The students who chose the correct answer C
Microscope had relevant knowledge of the components of weather station.
Microscope is an instrument used for viewing very small object such as
mineral samples or plant cells, and not one of the components of weather
station. The students who opted for the incorrect answers A, Rain gauge, B
Wind Vane and D Stevenson Screen lacked knowledge of components of
weather station.

Item (iv) required the students to identify the time recorded along the same
meridian. The students who chose the correct answer A Local Mean Time
were knowledgeable about longitude and time. Local time is a time recorded
along the same longitude; in real sense all meridians are lines of longitude.
The analysis shows that students who opted for alternative B, C, D and E
lacked knowledge of longitude and time. The students who opted for B
Greenwich Mean Time failed to differentiate the time recorded along the same
meridian and that which is recorded along Greenwich meridian. Those
students who selected response C Great Mean Time lacked knowledge of the
subject matter as the term is not related to the subject time zones. In other
hand, those students who chose distractor D Standard Time lacked knowledge
as standard time is the adopted time over a country or part (zone) of a country
(time zone), and used for the whole area in order to avoid the inconveniences
resulting from the use of local time.

Item (v) required the students to identify the type of climate which is different
from the climates given in the item. The students who opted for the correct
answer C Hot Desert had knowledge of the type of climate found in the
Western margins of landmasses located between latitude 20° and 30° North
and South of the Equator. It is characterized by little rain, high diurnal

8



temperatures and strong wind in some cases, for example the Sahara,
Kalahari, Namibia, California and Atacama. The students who opted for A
Mediterranean lacked the understanding of hot desert climate. Mediterranean
climate experiences rain during winter season and dry season during summer.
Similarly, B Savannah is referred to Tropical Continental climate which is
found between 5° and 20° North and South of the Equator. Furthermore, the
students who opted for A, B and D were not aware that Mediterranean and
Savannah climates have some of the characteristics of Equatorial climate. In
real sense Equatorial climate is characterized by high temperature, heavy rain
fall and low annual range of temperature between 2°C -3°C, which resembles
in some cases with Mediterranean and Savannah” contrary to hot desert.

Item (vi) required the students to identify the largest scale of a map among
others. Those students who chose correct answer D “7/: 10,000” had
knowledge on the ways of expressing scale on a map and their features. The
students who chose the incorrect answer A “/:25,000" lacked knowledge and
skills of classifying scales according to their sizes, as when the denominator is
large it implies a small scale and if the denominator is small, it implies a large
scale. Essentially the larger the denominator the smaller the area. Also the
students who chose B 1:500,000 and C 1:50,000 were attracted by the big
denominators; hence they failed to understand the ruling principle of
denominator and numerator which are expressed in mathematical language.

Item (vii) required students to provide the correct set of the ocean floor
features. The students who chose the correct answer C Trench, Continental
Shelf, Continental Slope, were knowledgeable on the ocean floor features like
oceanic island and oceanic ridge, deep sea and ocean plain. The students who
opted for incorrect answer A Ridge, Basin, Plateau and Water fall lacked the
knowledge about the ocean floor features. They were not able to differentiate
the features found on the earth’s surface like ridges, basins, plateaus and
waterfalls and those found in the ocean floor like trench, continental shelf and
continental slope. Also students who chose distractor B Continental Shelf,
Basin and Waterfall were having poor knowledge about ocean floor features
since basin and waterfall features are not found in the ocean. Lastly, those
students who opted for D Horst, Plain and Volcano lacked knowledge on
features of ocean floor because horst and plain are features formed on the
surface of the earth while volcano is the molten materials.



Item (viii) demanded students to identify what happens in regard to time
gained or lost when a ship moves to the West and crosses the International
Date Line. The students who chose the correct answer B One whole day is lost
were having sufficient knowledge about the International Date Line (IDL),
since if one travels East wards and crosses the date line, will gain a day. If one
travels Westwards across the line, one will lose a day. The students who opted
for A No time is gained or lost lacked knowledge on the functioning of
International Date Line. Similar to those who opted for distractors C and D
One whole day is gained and one whole day is repeated respectively all lacked
knowledge about longitude and time.

Item (ix) required the students to identify the term which describes the height
above the sea level. The students who chose the correct answer A Altitude
were conversant with term asked. Since altitude is a height of a place on the
earth’s surface or in the atmosphere, above mean sea level. The students who
chose the distractor B Contou misinterpreted the two terms or concepts
(altitude and contour). Contours are the lines drawn on a map joining all
places with the same height above the sea level. The students who were
attracted by C Latitude were also having insufficient knowledge about the
latitude. Latitude is angular distance North or South of the Equator measured
in degrees, minutes and seconds. Moreover, the students who opted incorrect
answer D Ocean had inadequate knowledge on the topic of the major features
of the earth’s surface. The Ocean is a large body of water which occupies 71%
of the earth’s surface, examples of oceans are Indian Ocean, Atlantic Ocean
and Pacific Ocean.

Item (x) demanded the students to identify a statement which is not an
importance value of forests. The students who opted for the correct answer C
“Accelerate soil erosion” were knowledgeable of the importance values of
forests. A forest is a continuous growth of trees and under growths covering
extensive areas of land; they can be natural forests or planted forests. One
among the values of forests is to control soil erosion. Those who chose other
distractors A “support life of varied species, B “modify climate, and D “home
for animals and birds” lacked the knowledge on the values of forests in the
society, since all the three alternative statements describe the importance
value of forests to man and other species. The students who chose any of these
alternatives had insufficient knowledge of the subject matter and the
requirements of this question.
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2.1.2 Question 2: Matching Items

The question was compulsory and it required the students to match the five
items in List A with the correct responses from List B by writing a letter of
the correct answer in the space provided. List A contained descriptions of
solar system concepts while List B consisted of solar system concepts. Each
item carried 01 mark, making a total of five (5) marks.

LIST A LISTB
(i) Atime where a date is changed or where | A Great circle
calendar days begin.
B  Solar system
(ii) The time when the length of a day and
night are equal overall places on the C  Solareclipse
earth’s surface.
D  Moon eclipse
(iii) The phenomena which occurs when the )
moon pass between the sun and the E  Revolution of the
earth. sun

(iv) The arrangement of the planets and solid | F International ~ Date
objects in space in relation to the sun. Line

(v) The lines used in plotting routes for ship G Equinox
crossing large stretches of ocean water
and aircraft.

The question was attempted by 505,623 (99.9%) students out of which 14
percent scored from O to 1 mark of which 3.9 percent scored 0 mark, 38.4
percent scored from 2 to 3 marks, 47.6 percent scored from 3.5 to 5 marks and
ten students skipped the question. The performance of students in this
question was generally good as 86 percent scored 30 percent and above.
Figure 3 illustrates the students’ performance in this question.
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Figure 3: The Percentage of Students’ Performance in Question 2

Item (i) required students to match the descriptions of a line where a date is
changed, or where calendar days begin with the correct concept. The
students who managed to choose correct response F International Date
Line had sufficient knowledge on the concept of International Date Line
(IDL). The students who opted for A Great circles failed to realize that
great circles can refer to all meridians and the equator, while International
Date Line only follows the 180 degree of meridian. Moreover, the students
who chose Revolution of the Sun were attracted by it because it causes
varying length of day and night at different times of the year and seasons of
a year. Those who chose B Solar system, C Solar Eclipse, D Moon Eclipse
and G Equinox had insufficient knowledge of the term which refers to a
line where a date is changed or where calendar days begin, thus they chose
any of these responses by guessing.

Item (ii) demanded students to identify the time when the length of the day
and night are equal over all places on the earth’s surface. The correct
response G Equinox was chosen by the students who had adequate
knowledge of the concept of the apparent movement of the overhead sun.
In real sense, the great circle is an imaginary circle on the earth’s surface
that has the same circumference; also it refers to all meridians and the
equator. The students who chose incorrect responses failed to distinguish
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the diverse functioning of all meridians and the equator. Moreover, the
students who had inadequate knowledge chose irrelevant distractors by
guessing.

Item (iii) required the students to identify the phenomena which occurs
when the moon passes between the sun and the earth, thereby totally or
partially blocking the sunlight. The correct response C Solar eclipse was
matched correctly by the students who had sufficient knowledge on the
incidence of the moon passing between the sun and the earth. However,
those students who chose D Moon eclipse failed to differentiate between
solar eclipse and moon eclipse. In real sense, moon (lunar) eclipse occurs
when the earth passes between the moon and sun, thus casting its shadow
on the moon. Moreover, due to limited knowledge on solar eclipse, some
students chose unrelated responses.

Item (iv) required the students to identify the concept which describes the
arrangement of the planets and solid objects in the space in relation to the
distance from the sun. Some students managed to match the correct option
B Solar System, since they were conversant with the concept of solar
system in general. However, some were attracted by the distractor C Solar
eclipse. They failed to differentiate the concepts of solar system and solar
eclipse as the incident occurs when the moon passes between the earth and
the sun, thus casting its shadow over the earth. Furthermore, students who
chose distractor A Great Circles, D Moon eclipse, E Revolution of the Sun,
F International Date Line and G Equinox lacked knowledge of solar system
and its components.

Item (V) required the students to identify the lines used in plotting routes for
ship crossing large stretches of ocean waters and aircraft. The students who
managed to choose the correct response A Great circles had sufficient
knowledge on the concept of great circle; which is an imaginary circle on
the earth’s surface that has the same circumference as the earth where ships
and aeroplane use as their route ways to guide their paths. However, some
students who opted for the distractor F International Date Line, failed to
figure out that the concept, means imaginary line across the globe from
North Pole to South Pole where the clock is adjusted 24 hours ahead or
backwards upon crossing. Other related choices such as B Solar System, C
Solar eclipse, D Moon eclipse, E Revolution of the Sun, and G Equinox
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were chosen by the students who failed to relate the concepts with correct
descriptions.

2.1.3 Question 3: True and False Items

The question was also compulsory and it consisted of ten (10) True or False
items (i-x). Each item carried one (1) mark, making a total of ten (10) marks.
The items were set from various topics of form one and two syllabi. The students
were required to write TRUE if the statement given was correct or FALSE if the
statement was not correct.

The question was attempted by 505,625 (99.9%) students, of which 3.1 percent
scored from 0 to 2.5 marks, 63.5 percent scored from 3 to 6 marks, 33.4 percent
scored from 6.5 to 10 marks, and 8 students skipped the question. The analysis
shows that students’ performance in this question was good as 96.9 percent of
the students scored 30 percent and above. Figure 4 illustrates the students’
performance in this question.

3.1%

Scores

m00-25
30-6.0
m65-100

63.5%

Figure 4: The Percentage of Students’ Performance in Question 3.

Figure 4 shows that 96.9 percent of all the students were able to score 3 marks
and above of all the marks allocated in question 3. These students showed
appropriate knowledge of the subject matter. Furthermore, these students
understand the demands of the questions asked. The items which were not
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answered correctly by most students were item (i) and (vii). This might be due
to the fact that these questions were in negative statements hence they might
have confused them. Extract 3.1 shows a sample of good responses.

Extract 3.1

3. In each of the following items (i-x), write True if the statement is correct or False if the statement

is not correct.

(i)  Industrialization is not an agent of environmental pollution. HA U | ST
(i) One among the major characteristics of equatorial climate is high temperature and heavy

rainfall throughout of the year. L — '
(iii) The continent that is crossed by both tropics of Cancer and Capricomn is Africa.

Jupiter. 150 T—
(vi) Lake Victoria, Kyoga, Superior and Chad are among the Rift valley lakes.

(vii) Population pressures especially in big cities in Tanzania do not accelerates the improvement

of social services ... FALE ... Gues
(viii) The use of solar energy minimizes environmental degradation. ... KM E
(ix) Representative Fraction (RF) is a way of expressing the scale of map by the use of word

statement. . FA L*SE .............
TRUE

(x) Equinoxes means equal day and night hours at all latitude. .| EME

Extract 3.1 A sample of a good responses from one of the students.

Responses from the students who scored 0 mark showed lack of knowledge in
the subject matter, misconceived the demands of the question due to
incompetence in English language. For example one student provided correct
responses in all parts by using Kiswahili Language, while the medium of
instruction in Geography subject is English Language. Extract 3.2 shows a
sample of student’s responses who provided correct responses by using
Kiswahili language.
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Extract 3.2

3. In each of the following items (i-x), write True if the statement 1s correct or False if the statement

1$ not correct.

13
(i)  Industrialization is not an agent of environmental pollution. SlHwely
(i) One among the major characteristics of equatorial climate is high temperature and heavy

o
rainfall throughout of the year. ... (’Gw ?’b’ TR |
(iii) The continent that is crossed by both tropics of Cancer and Capricom is Africa.

Kootk .

(iv) The side of mountain that faces the direction of the wind is known as Leeward side.

(v) Asteroids are solid heavenly bodies revolving around the sun mostly between Mars and

k)

Jupiter. A Cwdo

(vi) Lake Victoria, Kyoga, Superior and Chad are among the Rift valley lakes.

S kwoele

(vii) Population pressures especially in big cities in Tanzania do not accelerates the improvement

L] o
of social services. zbwd‘/ lw‘)

(viii) The use of solar energy minimizes environmental degradation. . IS0

(ix) Representative Fraction (RF) s a way of expressing the scale of map by the use of word

*

statement. .Y MY M

(x) Faninoxes means equal day and night hours at all latitude. .....

Extract 3.2 shows a sample of the student’s responses who provided
correct responses by using Kiswahili Language instead of English
Language.

The following were some strengths and weaknesses observed in the
students’ responses to this question:

In item (i) the statement given was: Industrialization is not an agent of
environmental pollution. It intended to test the knowledge of students if
they understand the causes of environmental pollution. The correct
responses was FALSE as was chosen by students with sufficient knowledge
on the negative impacts of manufacturing industries, and were able to
understand the demands of the question. In real sense, manufacturing
industries have been known to cause environmental pollution through
emission of gases. The gas may lead to the formation of acid rain which
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corrodes roofs and poisons soils. Water released from sewage systems, oils
outflow and toxic chemicals pollute the environment. Moreover, the
students who wrote TRUE lacked the knowledge of negative effects of
industrialization and the major causatives of environmental pollution and
they misconceived the demands of the question.

Item (ii) was intended to test the students’ knowledge in identifying
characteristics of equatorial climate. The statement was: One among the
major characteristics of equatorial climate is high temperature and heavy
rainfall throughout the year. The correct response was TRUE which was
chosen by students who had adequate knowledge of the major features of
equatorial climate. The climate is characterised by average daily
temperature (about 27°C), annual range of temperature is about 2° C to 3°
C, and there is no distinct dry seasons. The students who wrote FALSE
showed lack of knowledge of the characteristics of equatorial climate.

Item (iii) tested students’ knowledge of the position of Africa continent.
The statement was: The continent that is crossed by both Tropics of Cancer
and Capricorn is Africa. The students who wrote the correct answer TRUE
had sufficient knowledge of the African continent which extends from 35°S
and 37°N, and therefore crossed by both tropics of cancer 23°N and
Capricorn 23°S located in South or North of the Equator respectively. The
students who wrote FALSE had insufficient knowledge on the two tropics
and African continent as a whole.

Item (iv) aimed at testing knowledge of student on relief or orographic rain
formation. The statement given was: The side of mountain that faces the
direction of wind is known as Leeward side. The students who had
knowledge of the correct term (windward side) provided the correct answer
FALSE. Moreover, the students who wrote TRUE lacked reliable
knowledge of the concept Leeward which refers to the side of the mountain
which does not face the direction of the winds, thus moist wind deviates
upward which make it difficult for the area to get rainfall.

Item (v) aimed to test students’ knowledge of asteroids as heavenly bodies.
The statement given was: Asteroids are solid heavenly bodies revolving
around the sun mostly between Mars and Jupiter. The correct answer was
TRUE which was chosen by knowledgeable students who were conversant
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with the asteroids descriptions. The students who wrote FALSE showed
insufficient knowledge about heavenly bodies in the solar system.

Item (vi) tested the knowledge of students on the features of the earth’s
surface especially the basins and rift valleys. The statement given was:
Lake Victoria, Kyoga, Superior and Chad are among the Rift valley lakes.
The students who wrote FALSE were familiar with the topic on the major
features of the Earth’s surface, specifically basins and rift valleys. The
basin is a broad shallow saucer-shaped depression enclosed by high land
with or without an outlet to the sea like Victoria basin, Chad basin and
Kalahari basin, while rift valley is formed when the ground between two
sets of faults sink down of the crust, or depressed between parallel faults.
Also trenches which are formed by rift valleys when filled with water may
form rift valley lakes like, Lake Tanganyika in Tanzania. The students who
wrote incorrect answer TRUE seemed to have inadequate knowledge on the
major features of the earth and its land forms particularly basins and rift
valleys.

Item (vii) tested knowledge of students on identifying the impact of
population pressures in big cities. The statement was given that: Population
pressures especially in big cities in Tanzania do not accelerate the
improvement of social services. The correct answer chosen by the students
who had reliable knowledge of the subject matter was FALSE. In real
sense, population pressure in big cities is one among the driving forces that
accelerate the improvement of social services, contrary to the negative
statement of this item. The students who provided the incorrect answer
“TRUE” some of them lacked knowledge on the influence of population
pressure in the improvement of social services in big cities in Tanzania,
while others misconceived the demands of the question.

Item (viii) tested the knowledge of students in environmental friendly
energy resources. The statement stated that: The use of solar energy
minimizes environmental degradation. The students who provided the
correct answer TRUE had sufficient knowledge of the importance of solar
energy as one of the environmental friendly energy resources to human
being and other species on the earth. Solar energy is the energy harnessed
from the sunrays to execute diverse activities such as producing electricity,
which can be used for domestic and industrial activities. The students who
wrote FALSE lacked knowledge of the positive effects of solar energy use.
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Item (ix) tested the knowledge of students in different ways of expressing
scales of a map. The statement was: Representative Fraction (RF) is a way of
expressing the scale of the map by the use of word statement. The students
who wrote FALSE were knowledgeable about the ways of expressing scales
on the map by the use of words which is termed as “statement scale”, contrary
to the statement of the question. Moreover, the students who wrote TRUE had
insufficient knowledge of the classification of scales on the basis of the way
they are expressed.

The last item (x) was aimed to test students’ knowledge of equinox. The
statement was: Equinox means equal day and night hours at all latitude.
The correct answer was TRUE which was selected by students who had
enough knowledge of the time (date). Equinox occurs when the sun is
directly overhead at the equator at noon around March 21* and September
23" The students who wrote FALSE lacked knowledge of the concept and
its effects.

2.2 SECTION B: SHORT ANSWER QUESTIONS
2.2.1 Question 4: Human Activities

This question had four main parts (a), (b), (c) and (d). The students were
required to: (a) briefly explain the concept of human activities, (b) name four
types of primary human activities (c) differentiate between primary and
secondary human activities giving two examples and (d) name six benefits of
livestock keeping in Tanzania. Marks allocated for each part were (a) 2, (b) 4,
(c) 3, and (d) 6 making a total of 15 Marks.

The question was attempted by 505,603 (99.9%) students of which 60.9
percent scored from 0 to 4 marks of which 27.6 perccent scored 0 mark, 25.1
percent scored from 4.5 to 9.6 marks, 14 percent scored from 10 to 15 marks
and 0.1 percent skipped this question. The performance of the students in this
question was generally poor as 60.9 percent scored below 30 percent. Figure 5
illustrates the students’ performance in this question.
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Figure 5: The Percentage of Students’ Performance in Question 4.

Figure 4 shows that 60.9 percent of all the students who attempted this question
scored below 04 marks out of 15 allocated to this question.

The students (27.4%) who scored 0 mark lacked the knowledge of the subject
matter, while others misinterpreted the requirements of the item, thus provided
irrelevant answers. Part (a) tested the knowledge of students on the concept of
human activities. The item required the students to briefly explain the concept
of human activities. The examples of some incorrect responses from the
students were such as:
() “Human activities is the agriculture activity that involves the
cultivation of crops and keeping of animals and the other”
(i) “Human activities are pastoral farming and livestock keeping .
(iii) “Human activities is the environmental degradation”
(iv) “Human activities is the transfer of information from one place to
another”
(V) “Human activities are all crops”

These responses reveal that there was misinterpretation of the item demands as
some students defined the concept of agriculture, other listed the terms related
to human activities, and others listed the types of human activities. In part (b),
the students provided wrong names of the four types of primary human
activities. For example, one student wrote: “Teacher, Pupils, School and
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officer”, and the other mentioned types of livestock keeping systems such as
pastoralism, sedentary, ranching and nomadism.

In part (c), the students failed to differentiate primary activities from secondary
activities. For example, one student provided the difference between small
scale agriculture and large scale agriculture. Others just copied some
statements from alternatives given in question 1 and wrote them as their
responses.

In part (d), some students presented unrelated concepts which did not refer to
the benefits of livestock keeping in Tanzania. For example, one student
provided the following responses; “The lines used in plotting routes for ship
crossing large stretches of ocean waters and aircraft”, “the arrangement of
the planets and solid objects in space in relation to the sun”, the line where a
date is changed or where calendar days begin” The student copied the items in
question 1, 2 and 3 and wrote them as answers. Extract 4.1 is sample of
irrelevant responses from the student.
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Extract 4.1

(b) Name four types of primary human activities.
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(c) Giving two examples, differentiate between primary and secondary human activities.
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(d) Name six bengfits g;fﬂiuvcstock keeping in‘ Tanzania.
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Extract 4.1 is a sample of responses from the student who provided irrelevant
answers in all parts of the question; furthermore the student was poor in
English language.

Further analysis shows that the students who scored from 0.5 to 4 marks failed
to respond correctly as required to most of the items due to lack of knowledge
of terminologies tested, misconceived the demands of the question and poor
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proficiency in English Language. Some students who scored few marks
responded on few items. For example, in item (a) they wrote the meaning of
work which is the activity involving physical effort; or it refers to any task
done by man. instead of providing the concept of human activities which is,
any activity which a person does to his own purpose. Example of human
activities are agriculture, fishing, mining, industry etc.” Moreover, in item (c),
some students failed to differentiate primary from secondary activities, while
others failed to provide examples of primary and secondary activities. In item
(b), some students named few correct types of primary activities, while others
mixed correct and incorrect responses.

Additionally, the students’ responses indicate that those who had average
scores of 4.5 to 9.5 marks managed to answer some items of the question
correctly especially in item (a) and (b). In item (a), some students were able to
explain the concept of human activities correctly, while others gave partial
explanations. In item (b), some students provided few correct responses while
others left some blanks without giving any responses. In item (c), some
students failed to give two examples of primary and secondary human
activities while others managed. Furthermore, most students in item (d) were
able to provide correctly six benefits of livestock keeping in Tanzania. For
example, most of them named six benefits as: “helps to get beef or meat,
getting milk, getting income, skin of cattle, making utensils from bones of
cattle, provision of food, employment to some labour, provision of basic
requirement and source of foreign currency .

On the other hand, the students who scored higher marks (10 to 15) had good
knowledge of the subject matter, and understood the demands of the question.
In item (a), the students managed to explain the concept of human activities
such as: The activities performed by human to earn their living. Human
activities are categorised into three types which are primary human activities
which involve extraction of raw materials from their source, secondary
activities which involve converting raw materials into finished goods and
tertiary activities which involve the provision of services. Examples of
activities are mining, agriculture and trade. In items (b), students named four
types of primary human activities such as “mining, agricultural, fishing and
forestry”. In item (c), students managed to give two examples as well as the
differences between primary and secondary human activities: primary
activities are activities which involves extraction of raw materials directly from
their nature, example, mining which involves extraction of minerals directly
23



from their deposits (mines) and agriculture which involves cultivation of crops
from the land. Furthermore, secondary activities involve transformation of raw
materials into finished goods. For example, changing cotton fibre as raw
material into clothes which is a finished good. Converting pyrethrum flowers
into insecticides which is used to kill insects such as mosquitoes, cockroach.
Secondary activities involve manufacturing industry which transforms raw
materials into finished goods. Similarly, students in item (d) gave six benefits
of livestock keeping in Tanzania correctly. Extract 4.2 is a sample of response
from the student who managed to provide correct answer in this question.

Extract 4.2
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(c) Giving two examples, differentiate between primary and secondary hurhan activities.
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Extract 4.2 is a response from the student who provided relevant answer in
all parts of the question

25



2.2.2  Question 5: Map Work

This question was compulsory and tested students’ skills in map reading.
The question had five items (a), (b), (c), (d) and (e). In item (a) the students
were required to name the type of map scale which was used to present the
map. Students in item (b) were required to mention three ways which can be
used to measure the distance of the road on the sketch map. In item (c),
students were required to describe three important basic components of the
map. In item (d) students were to convert the given scale into a statement
scale, and in item (e) students were required to mention three methods
which can be used to calculate the area of the forest shown on the sketched
map. The marks allocated for each item were (a) 01, (b) 4.5(c) 03 (d) 02 and
(e) 4.5 making a total of 15 marks.

The analysis showed that the question was attempted by 505,610 (99.9%)
students. It ranked the second in terms of poor performance as only 29.4
percent of the students who opted for it scored 30 percent and above, 70.6
percent scored from O to 04 marks, 18.8 percent scored from 4.5 to 9.5
marks, 10.6 percent scored from 10 to 15 marks. Figure 6 illustrates the
students’ performance in this question.

10.0-15.0 h 10.6

4.5-95 18.8 m0.0-4.0
45-95
m10.0-15.0

Scores

0 20 40 60 80 100
Percentage of Students

Figure 6: The Percentage of Students’ Performance in Question 5.

Figure 5 shows poor performance in this question as 70.6 percent of all the
students scored 0 to 4 marks.
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The students who scored 0 marks some had poor knowledge and skills in
map work topic while others failed to understand the demands of the
question. For example, in item (a), some failed to name the types of scale
which was used to represent the map. They provided irrelevant responses
such as small scale, large scale and medium as well linear and statement
scale, contrary to the demands of the items.

In items (b) the students were not able to mention three ways which can be
used to measure the distance of the road on the sketch map instead they
mentioned irrelevant answers such as Longitude, Latitude, International
Date Line and Equinox. Others provided ways of representing scale on the
map such as statement scale, linear scale and ratio scale.

In item (c) most of the students failed to described three basic important of
the components of a map. For example, one student provided incorrect
responses such as; small scale, medium and large scale which are types of
scale while others copied some words from the question paper such as
continental shelf, continental slope and waterfall” and wrote them as
responses. Items (d), tested the ability of the students to convert scales of a
map given, this part was skipped by most of the students as it required
application of mathematical skills. Most students failed to convert the given
scale to statement scale correctly possibly due to incompetence in applying
mathematical skills. Extract 5.1 is a sample of response from the student
who provided irrelevant answers in this question.
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Extract 5.1

5. Study the sketch map provided and answer the questions that follow:

“Scale 1:50,000
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¢) Briefly describe three important basic components of a map.
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(¢) Mention three methods which can be used to calculate the area of the forest shown on the
sketched map.
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Extract 5.1 is a sample of responses from the student who provided
incorrect answers in this question.

Further analysis from the students’ responses shows that the students who
scored 0.5 to 4 marks failed to respond correctly to some parts of the
question due to inadequate knowledge. For example, item (a) some student
managed to name the correct type of scale which was used to represent map
such as: Representative Fraction (RF) Scale”, in item (b), the student
mentioned three ways which can be used to measure the distance of the road
on the sketch map such as “by the use of paper method and by using a pair
of divider”. In item (c), most students showed partial knowledge of basic
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map components as they provided few correct responses. In item (d), some
students were able to convert the ratio scale to a statement scale correctly,
while others failed to due to inadequate skills in map scale conversion. In
item (e), most students failed to respond correctly as required to all the
needed points as a result they scored few marks.

Moreover, the students’ response indicates that those who scored from 4.5
to 9.5 marks were able to give correct responses in some items of the
question. For instance in item (a), some of them managed to name the
correct type of scale which was used to represent the conveyed map, while
others skipped or gave incorrect answers. Moreover, in item (b) most
students mixed correct and incorrect answers out of three ways which can be
used to measure the distance of the road on the sketch map such as
“bearing, pair of divider, latitude and longitude”. In item (C), some students
described three important basic components of a map correctly such as
“title, key, margin, north direction and scale which help to identify what has
been represented on a map.” In item (d), only few students managed to
convert the given scale into a statement scale. In item (e), most students
mentioned all the three methods which could be used to calculate the area of
the forest shown on the sketched map such as by using division, by using
square, and using a string.

The students who relatively scored higher (10 to 15 marks) had adequate
knowledge of the subject matter as they were able to understand the sketch
map, and answered well all the questions provided. For example, in item (a)
they provided correct answers such as “The type of scale used to represents
the sketch map provided is Representative Fraction (RF). In item (b), they
were able to mention three ways which can be used to measure the distance
of the road on sketch map, such as “by using a string, by using a piece of
paper and a pair of divider” as well as in item (c) where they described
three important basic components of the map such as “key, title and scale”
correctly. In item (d) the students managed to convert the given scale into a
statement such as; one centimeter on the map represents a half kilometer on
the ground. Nevertheless, in item (e) the students gave all the three methods
which can be used to calculate the area of the forest shown on the sketched
map such as “division method, square method and strip method “correctly.
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Variations of the students’ scores in this question depended on their ability
in responding. Extract 5.2 is a sample of good responses.

Extract 5.2
5. dtudy the sketch map provided and answer the questions that follow:

“Scale 1:50,000

Key
;;:k i:} Forest

= Road

(a) Name the types of scale which has been used to represenf this map.

(b) Mention three ways which can be used to measure the distance of the road in the sketch map.
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Extract 5.2 is a sample of a good response from the student who provided
relevant answers in all the five items of the question.
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2.2.3 Question 6: Climate

The question consisted of five (5) parts in which the students were required to
study the climatic table provided: (a) suggest the type of climate of station Y,
(b) calculate the daily mean temperature (c) find the mean annual temperature
(d) find the annual rainfall for station Y, and (e) mention any four crops that
can be grown in station Y. The total marks allocated for this question were 15.

The question was attempted by 505,484 (99.99%) students, and it was among
the questions with poor performance in this paper. The analysis of the students’
performance shows that only 25.9 percent of the students who attempted it
scored 30 percent and above. The analysis of students’ performance shows
that 74.1 percent scored from O to 4 marks, 22 percent scored from 4.5 to 9
marks, 3.9 percent scored from 10 to 15 marks, and 0.1 percent skipped it.
Figure 7 illustrates the performance.

Scores

m0.0-4.0
45-95
m10.0-15.0

Figure 7: The Percentage of Students’ Performance in Question .

The students (29.4%) who scored 0 mark showed lack of knowledge on the
subject matter as they failed to provide correct answers in all items of the
question.

In item (a) they failed to suggest the relevant type of climate for station Y. For
example, one student copied climatic data from the climatic table provided
and presented them as answers such as, Tempo’C 26 and Rainfall (mm).
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Moreover, the incorrect responses provided were characterized by
grammatical errors.

Item (b), (c), and (d) aimed at testing students’ mathematical skills in
calculating daily mean temperature, mean annual temperature and annual rain
fall for station Y by using climatic data provided in the climatic table.
Majority of students failed to supply correct answers, while others skipped the
items. This indicates that the students lacked mathematical skills required to
compute and provide relevant responses in items (b), (c) and (d).

Moreover, item (e) was meant to test the students’ knowledge on crops grown
in different climatic regions. Analysis of students’ performance revealed that
some of these students lacked knowledge of the subject matter, while others
misconceived the items demands and gave irrelevant responses. For instance,
one student mentioned types of minerals such as coal, minerals, petroleum
and iron instead of correct crops grown in that area like: banana, coffee, rice,
yams cocoa, palm, rubber tea and maize. Extract 6.1 shows poor responses
from the student.
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Extract 6.1

6. Study the following climatic table and answer the questions that follow.

Station Y
Month J F M A M J J A S O N D
Temp."'E 225125 125 (255|255 | 255 | 255 | 255 |26.1|26.1]26.1]26.1

| Rainfall (mm) | 198 [340 431350 [280 [230 [160 [71 [15. [12 [15 |66 |

(a) Suggest the type of climate of station Y..... M.Qdfl:'.i. YTTRANRGN, C\\mn&‘i ................

(b) Calculate the daily mean temperature.
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(d) Find the annual rainfall for station Y. )
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(e) Mention any four crops that can be grown in station Y.
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Extract 6.1 is a response from the student who provided irrelevant answers in all
the items of the question.
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The students who scored from 0.5 to 4 marks had partial knowledge of some
items of the question. In item (a), some students gave correct answers by
suggesting the type of climate for station Y as “Equatorial climate”, while others
provided wrong answers.

In items (b), (c), and (d), some students managed to calculate the daily mean
temperature, mean annual temperature and annual rainfall correctly. However,
others misconceived the item’s demands hence they supplied wrong answers. For
example, instead of calculating the daily mean temperature some calculated mean
annual temperature.

In item (e), most students managed to mention few correct crops that can be
grown in station Y, these students mixed correct and incorrect answers for the
crops which are grown in Station Y. Some students’ responses were “maize,
banana, cassava and millet”, “cotton, millet, coffee and maize”, “maize, rice,
wheat and yams”.

More analysis indicates that the students who scored from 4.5 to 9.5 marks had
moderate knowledge of the subject matter and reliable mathematical skills which
enabled them to provide correct answers to some item of the question in (a), (b),
(c) and (d). In addition, students’ responses showed in item (e) that, some
students managed to mention either two or three crops that can be grown in
station Y, while other mixed correct and incorrect responses.

Students who scored from 10 to 15 marks showed sufficient knowledge and skills
on the subject matter tested. They were able to provided correct responses in item
(@) by suggesting the correct type of climate for station Y that is “equatorial
climate”. In item (b), (c), (d), some students managed to calculate “daily mean
temperature”, “mean annual temperature” and ‘“annual rainfall for station Y”
correctly. Other students could not provide all correct responses. However, in
item (e) they managed to mention all four crops that can be grown in station Y
such as “rubber, cocoa, palm oil, banana, cassava, sugarcane and maize”.
Extract 6.2 is a sample of relevant response in this question.

36



Extract 6.2

6. Study the following climatic table and answer the questions that follow.

Station Y

Month J F M A M J J A S O N D
Temp."C 22525 [25 [255(255 [255 255 [255 | 26,1261 |26.1 | 26.1
Rainfall (mm) 198 | 340 | 431 | 350 | 280 230 160 71 15 12 15 66

(a) Suggest the type of climate of station Y......... Cquatonal Cilma.lP ..........................
(b) Calculate the daily mean temperature.
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Extract 6.2 A sample of responses from the student who provided correct answers to all
items (a), (b, (c), (d) and (e).
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2.3  SECTION C: REGIONAL FOCAL STUDIES

2.3.1 Question 7: Water Management for Economic Development

The question required the students to describe any six consequences of water
shortage to the communities.

This was the least opted question since only 103,386 (20.4%) of the students
attempted it. Statistical analysis revealed that 81.5 percent of student scored from
0 to 4 marks of which 62.2 percent scored 0 mark, 8.4 percent scored from 4.5 to
9.6 marks, and 10.1 percent scored from 10 to 15 marks. The performance of
students in this question was also poor as 81.5 percent scored below 30 percent.
Figure 8 illustrates the performance in this question.
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Figure 8: The Percentage of Students’ Performance in Question 7

The students who scored 0 mark had poor knowledge of the subject matter. This
was evidenced by irrelevant responses they provided contrary to the
requirements of the question. Some of these students could neither write the
introduction, main body nor conclusion in their responses, while others provided
the wrong responses. Furthermore, some students copied some sentences from
other questions and wrote them as answers to the question instead of describing
the consequences of water shortage to the communities. Others skipped the
question. Extract 7.1 is a sample of a response from the student who
misinterpreted the question.
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Extract 7.1
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Extract 7.1 is sample of an irrelevant response from script of a student in this
guestion.

The students who scored 0.5 to 4 marks showed partial knowledge of the
subject matter as they were able to provide the correct introduction and few
consequences of water shortage to the communities. Their responses revealed
lack of essay writing skills and insufficient knowledge on the concept tested as
well as poor mastery of English Language. However, the majority of these
students scored 0.5 to 1 mark in the introductory part, but they failed to answer
the question accordingly. Some of their responses shows misinterpretations of
the question because they described irrelevant points such as “it is used for
irrigation, it is used for domestic purpose, it is used for electric power, it is used
in transport and it is used in cooling engine of machines”. Others provided
unrelated responses which were neither uses nor consequences of water
shortages to the communities like “dropout of school of children, failure in
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exams to girls children, loss of time to keep girl children cleanliness”, attack by
wild animals which can cause death or damage and” cause fired or exhausted” .

On the other hand, the students who scored average marks (4.5 to 9.5)
understood the requirements of the question, and had some knowledge on the
topic tested: “Water Management for Economic Development”. The analysis
from students’ scripts showed that some students were able to point out most of
the consequences of water shortage correctly, but they failed to describe them in
accordance with the demands of the question. For example, one student
mentioned consequences of water shortage as: decrease in hydroelectric power
generation, yet the descriptions provided were based on how hydroelectric
power is formed. Another student mentioned decrease of agricultural
production, but the descriptions based on the types of agriculture, instead of
how water shortage affects agriculture. However, most of these students
adhered to essay writing skills.

Further analysis shows that the responses of the students who scored from 10 to
15 marks were characterized by relevant descriptions of points. The students
responses in this group indicated that they had good essay writing skills,
adequate knowledge of the topic of “Water Management and for Economic
Development”, and they were able to understand the demands of the question.
Example of the students responses; “decline of agricultural activities, decline of
industrial activities, decline of hydro-electric power plants, stagnation of
construction activities and poor health among the members of the community”.
One student responded differently with the same ideas such as “, decline of the
human activities, decline of industrial sector, decline in production of
electricity, loss of bio diversities, decline of water transport system and conflicts
for the sources of water among the members of community”. However, the
variation of the scores was determined by relevant descriptions of the points.
Extract 7.2 is a sample of a good response in this question.
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Extract 7.2
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Extract 7.2 is a sample of good responses from the student who did well in question 7.
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2.3.2 Question 8: Sustainable Mining

The question assessed students’ ability to explain five problems caused by
mining industry in Tanzania.

This question was opted for by a good number of students 319,699 (63.2%)
of which 68.1 percent scored from 0 to 4 marks, 19.9 percent scored from
4.5 to 9.5 marks, and 12.2 percent scored from 10 to 15 marks. The
performance of the students in this question was poor as 81.6 percent
scored below 30 marks. Figure 9 illustrates the students’ performance in
this question.
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Figure 9: The Percentage of Students’ Performance in Question 8.

Lack of concentration in identifying the needs of the question, and poor
knowledge of the subject matter made a total of 107,242 (33.5%) students to
score 0 mark. The analysis of the students’ responses shows that they
misconceived the question demands hence provided irrelevant responses. For
example, one of the students explained the importance of mining instead of
problems caused by mining activities. Another explained the problems facing
mining activities such as low technology, shortage of power, lack of capital,
skilled labour and poor infrastructure system. Furthermore, some students in
this group had poor essay writing skills as well as poor English Language
proficient. Extract 8.1 is a sample of irrelevant response from a script of
students in this question.
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Extract 8.1
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Extract 8.1 is a sample of a response from the student who misinterpreted the
demands of the question He/ she listed problems facing mining activities instead
of problems caused by miming activities. Furthermore the student showed poor
essay writing skills with poor English language command.

Similarly, the students who scored from 0.5 to 4 marks showed insufficient
knowledge of the subject matter. For example, some were able to give
relevant introductions and outlined few correct responses as per question and
others mixed incorrect and correct responses. Moreover, some students
managed to provide relevant introductions though they explained irrelevant
points while others provided few relevant points with relevant conclusion.
Extract 8.2 is a sample of a poor response from the student with correct
introduction but irrelevant points in this question.
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Extract 8.2
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Extract 8.2 shows a response from a script of the student who provided correct
introduction, but failed to understand the demands of the question hence he/she
explained problems facing mining activities instead of problem caused by mining
activities.
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On the other hand, the students who scored average (4.5 to 9.5) marks had
little knowledge about the concept of sustainable mining particularly the
problems caused by mining industry; thus they were able to respond partially
to the question. The analysis of students’ responses showed that some of them
were able to provide few correct points such as: “soil erosion, deforestation,
land degradation and environmental pollution”. Others provided similar
points in different language like “land pollution and environmental
pollution”. Moreover, some weaknesses which hindered them to score higher
marks include inadequate explanations in some points, and failure to exhaust
the required number of points.

Nevertheless, few students (10.1%) who scored higher marks (10 to 15) had
adequate knowledge of the subject matter, and were able to explain the
required number of points with vivid examples and considered all steps of
essay writing. The accuracy of their responses varied, for example, those who
scored above 12 marks were conversant with the topic tested (Mining
Industries) and explained the problems caused by mining activities, such as
“death of the people, land degradation, destruction of some biodiversity, air
pollution, destruction of wild animals habitat. Other students also added land
degradation; contamination of water causes diseases, spread of diseases, air
and noise pollution, environmental pollution, destruction of the natural
landscape of an area, deforestation and spread of diseases”. Extract 8.3
illustrates the case.
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Extract 8.3

8. Explain five problems caused by mining industry in Tanzania.
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Extract 8.3 shows a response from a script of the student who explained a relevant
answer.
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2.3.3 Question 9: Agriculture

In this question the students were required to describe six characteristics of
small scale agriculture.

Data analysis showed that this was the most attempted question as 328,584
(65%) of students opted for it, and the performance was generally good as
51.8 percent scored 30 percent and above. Moreover, analysis of performance
showed that 76,302 (23.2) scored 0 mark, 48.1 percent scored from 0 to 4
marks, 28.3 percent scored from 4.5 to 9.5 marks, 23.4 percent scored from 10
to 15 marks and 35 percent skipped it. Figure 10 illustrates the students’
performance in this question.
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Figure 10: The Percentage of Students’ Performance in Question 9

Analysis of the students’ performance indicates that students who scored
high marks (10 to 15) adhered to the demands of the question and
demonstrated to have adequate knowledge of the topic. The question was
performed well due to the fact that small scale agriculture is practiced by
the majority of Tanzanians, and students were aware of its characteristics.
These students provided relevant introductions, described the required
points correctly and ended with relevant conclusions. They provided the
required points such as “small scale agriculture is practiced in small plots,
it is done for subsistence, use of simple tools, several crops are planted on
the same plot of land, low quality of products and it involves the use of
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poor methods. However, there were differences in the quality of their
explanations which caused variations of their marks. Extract 9.1 is a sample
of the correct response in this question.

Extract 9.1
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Extract 9.1 is a sample of the correct response.
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Analysis from the scripts of the students who scored from 4.5 to 9 marks
revealed that, majority of them were able to mention almost all the points
correctly, but failed to give correct descriptions to most of the points.
Others described similar points in different ways. For example, “it is
practiced in small plot of land” is similar to “it normally covers small
area”, and “there is a little use or no use of fertilizers” is similar to “it
does not depend on application of pesticides”. Others provided insufficient
explanations which could not deserve high scores. Further analysis from
students’ responses demonstrated a poor command of English Language

while describing characteristics of small scale agriculture.

In a similar way, the students who scored 0.5 to 4 marks, some provided
correct introductions and outlined the points, but they failed to give proper
descriptions. Others misconceived the demands of the question hence
provided irrelevant points to the question. For example some students
provided correct points but they failed to give correct descriptions, the
correct points were such as: “low level of science and technology, low
production. labour power is provided by family members, the use of
organic manure to improve fertility, it is mostly mixed cropping, it is most
subsistence, food crops are mainly grown, the farms are small in size and
simple technology is used. Extract 9.2 is a sample of response from the
student who provided correct introduction but misunderstood the demand
of a question.
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Extract 9.2
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Extract 9.2 is a sample of the students’ responses who provided correct
introduction but he/she explained factors for the development of
agriculture instead of characteristics of small scale agriculture.
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A total of 76,302 (23.2%) students scored a 0 mark in this question due to
lack of knowledge on the subject matter, and poor language proficient
which resulted into misunderstanding of the demands of the question. The
students’ irrelevant responses were unclear concepts of the characteristics
of small scale agriculture, and they outlined the points instead of
describing. For instance, one student defined the term small scale
agriculture as, the keeping animal and across of small agriculture keeping,
the following livestock keeping and animal and used to represent of map in
scale Agriculture. Other students provided the definition of large scale
agriculture instead of small scale agriculture: The farming system which
takes place in large area. Furthermore, some of the students also copied
some sentences from the question paper and wrote them as answers to the
question, while others just copied the question and left it unanswered. This
justifies their poor understanding of the concept tested. Extract 9.3
indicates irrelevant responses.

Extract 9.3

9. Describe six characteristics of small scale agriculture.

Extract 9.3 is a sample of poor responses from the student who provided
incorrect introduction of small scale agriculture and outlined unrelated and
unclear concepts related to the question.
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2.3.4 Question 10: Solar System.

The question required the students to elaborate five advantages of
developing solar system in Tanzania. The question was set from Solar
System topic.

This was among the questions which was attempted by very few students,
161,864 (32%), and it was also among the poorly performed questions. A
total of 71.4 percent scored from O to 4 marks of which 49,293 (30.5)
scored O mark, 21.1 percent scored from 4.5 to 9.5 marks, 7.4 percent
scored from 10 to 15 marks and 68 skipped the question. Figure 11
illustrates the percentage of candidates performance in question 10.
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Figure 11: The Percentage of Students’ Performance in Question 10

Figure 11 shows that 71.4 percent of the students who attempted this
question scored below 4.5 marks out of the 15 marks allocated to this
question.

A total of 104,134 (71.4%) students who scored a 0 mark in this question
diverged from the demands of question and failed to interpret its requisites.
However, others showed lack of knowledge of the subject matter. Majority
of the students misconceived the demands of the question, hence they failed
to give correct elaborations. For instance, one student outlined the names of
heavenly bodies in the solar system such as: comets, asteroids, meteorites
and natural satellites. Moreover, the responses provided by some students
in this group were in outline forms instead of essay, while others were not
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able to express themselves in English Language. Extract 10.1 illustrates
pOOr responses.

Extract 10.1
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Extract 10.1 is a sample of an incorrect response from a script of the student who
explained concepts of solar system but failed to elaborate its connection to the
requirement of the question.

Furthermore, the students with the average scored (0.5 to 4) marks had
insufficient knowledge of the subject matter, thus they understood the
demands of the question. Some students only managed to define the
concept of solar system, while others mixed correct and incorrect
advantages of developing solar system such as: provision of vitamin D,
light energy for plants, drying grains, development of industries,
development of agriculture, fertile soil, planets, asteroids and the moon,
solar system is the arrangement of planets and solid objects in space in
relation to the sun, they are support of various species, they produce
energy which is used in cooking, they are bad get or charcoal.

In addition, the students who scored from 4.5 to 9.5 marks had some
strengths and weaknesses in their responses which indicate limited
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knowledge of the subject matter as they were able to point out correct
points with relevant introduction. However, they were incapable of scoring
high marks due partial explanation. For example, one of the student’s
responses were such as: “it conserves the environment, it produces less
expensive energy, it helps to encouraging other development, helps massive
production and provision of social service”. On the other side, majority of
them provided inadequate elaborations while others, ignored some of the
advantages of developing solar system which adversely affected their
performance hence scored less than 9.5 marks.

The students who scored from 10 to 15 marks (7.4%) demonstrated better
understanding of the question, as they were able to write relevant
introduction and provided comprehensive elaborations of the main points of
developing solar system. Such responses were: minerals, through the planet
people can get minerals such diamond, gold and others which can be sold
and get foreign currency, fertile soil; people can use fertile soil for
agriculture, vegetation; through planet earth people can get energy, water;
through planet earth as one of component of solar system, provides water
which is used for agriculture activities and transportation, air; through
planet earth people get fresh air, tourist attraction are the case of meteors
found in Mbozi-Songwe then development of science and technology, space
exploration for example taken by NASA”. Moreover, most students in this
group were able to express themselves in English language and had essay
writing skills. Extract 10.2 indicates a sample from a script of the student
who provided relevant response in this question.
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Extract 10.2
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Extract 10.2 A sample of responses from the student who managed to give
a relevant introduction, and elaborated five advantages of developing
solar system in Tanzania correctly.
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3.0

4.0

SUMMARY OF THE QUESTIONS ANALYSIS IN GEOGRAPHY
FORM TWO NATIONAL ASSESSMENT (FTNA) 2018

ANALYSIS OF STUDENTS’ PERFORMANCE IN EACH TOPIC

The analysis of the students’ performance in FTNA 2018 in each topic shows
that students had good performance in 9 topics out of 11 topics as they scored
65 marks and above. Those topics include Manufacturing Industries, Map
Work, Sustainable Use of Forest, Climate, Weather, Major Features of the
Earth’s Surface, Human Activities, Agriculture and The Solar System. On the
other hand, the topic of Sustainable Mining (31.9%) had average performance
and only topics of Water Management for Development (18.5%) had a weak
performance. (See figure and appendix).

CONCLUSION

The analysis of individual questions shows that the general performance of the
Geography in the Form Two National Assessment FTNA 2018 was good.
The level of performance has been improved in relation to that of 2017. Many
students answered the questions correctly though few students had poor
performance in one topic (Water Management for Development), marked by
read colour in the appendix. The reason which contributed to low performance
in this topic as well question 5, 6 and 10 (set from the topics of map work,
climate and solar system) was misinterpretation of the demands of the
question, lack of knowledge of the topic tested, insufficient skills to apply
formulas and concepts in answering the questions, inability to express
themselves in English Language and poor transfer of knowledge.
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5.0 RECOMMENDATIONS

In order to maintain /improve the performance of the students in the Geography
subject assessments, the examiners suggest the following:

(a) Teachers are advised to guide the students on how to identify the
task/requirement in the given question.

(b) Teachers should make sure that all topics are well covered so as to enable
students acquire the intended skills and knowledge in the syllabus. For
example teacher should make sure that the Map Works and Major Features
of the Earth’s Surface, The Solar System and other topics are taught by
using relevant teaching aids so as to enable the students acquires the
intended knowledge.

(c) Teachers should guide students to go through books prepared by the
National Examination Council of Tanzania (NECTA); the Students’ Items
Response Analysis (SIRA) which suggests how to identify and articulate
questions requirement.

(d) School remedial programmes should be emphasized especially to the
National examination classes (that is Form Il and Form IV) to enable
teachers and students to cover the Syllabi and set time for revision of all the
topics.

(e) Schools should encourage use English Language by establishing special
programmes which instill effective use in English Language such as essay
writing competitions and challenging debate in the prevailing academic
subjects.

(F) Geography seminars should be conducted so as to enable teachers to build
the capacities and share experiences in various Geography topics.
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Appendix

Summary of the Students Performance in each Question

Percentage of

. Question students who
SIN Topic Number scored 30% and Remarks
above

4. | Agriculture. 9 51.9 Average
5. | Human Activities 4 39.1 Average
6. | Sustainable Mining 8 31.9 Average
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